PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with Nissan Motor Co. (Australia) Pty Ltd or any of its related companies*

To Suit  NISSAN PATROL GQ

PARTS INCLUDED WITH TRAY

1 X M6 Bolt

3 X M6 Bolt Countersunk
2 X M6 Nuts

1 X Body Washers

2 XJ Bolts

1 X' Special \Top Mount

RECOMMENDED ISOLATOR

DBE140S
or
DBE180-SX

TD 42 4.2L DIESEL Appaovm

FOR SELF FIT

These are oignal washer bottie
mounting hdoles.

Use existing bok on
op of guard.

—
P&y
4 \
xm'z.‘wm de\ht* and use CoOUNter SuNk
FITTING INSTRUCTIONS

The cradle fits passenger side middle.

The original bolts for.the washer bottle are removed, and the cradle
picks up off these points. Replace the M6 bolts, with the cradle
against the guard,.and the washer bottle in front. Two of the counter
sunk mountings will bolt straight in the guard, with M6 counter sunk
bolts. The last hole will need to be drilled with a 6mm drill and
fastened with a counter sunk bolt, with a nut and body washer under
the guard.

This‘cradle will fit the TB42S Carby Patrol by moving the pre cleaner.

Ensure, before closing the bonnet that all items fitted have
adequate clearance

Jan 2018

FITTING INSTRUCTIONS

“© Automotive Ignition Systems Pty Ltd 2018 i BTGQD



